*EHFE R

1 t=8Fgp EF3RN

i

BB AL &

R

\

p R F S e

&0

2

8RR

-~

TR F F[FALARAEF AT AL G RN A e A RS 4

;%T'é#%—rgﬁs*yréﬁﬁj - HEWw o

—

A e A G o

e e e e
A R S

Iy

A e

Ji

A e

i & AT (30%)

B E R AT 5Ok RE?(1)70%(2) 65% (3) 60% (4) 55%
T AR- fh g S L «fﬁw%ﬁi&:ﬁ?(l) Y ER (2) asR (3) [ER (4)

Bepir= gt e 5 TR 352(1) gokE (2) HER B) T

& F e fﬁﬁ_ﬁ%?(l) (2 & (3) A (4 &
TFRGFEA (1) THE Q) Hink Q) Tink @) Y FA

TrP s WiER Y A 4 5582 (1)05(2) SO, (3) CO, (4)NO

3R E =2 (1)Pa(2) N/m’ (3) dB (4) Hz

PEIERRALRZTFL (D) ¥ Q) 4 Q) §FiF (4 *5k2 B2
r:!i

s

3 EAR RS B 2 MR RO sk B A

R L3 (20%)
4 ¥ k%5 (Bioconcentration)
L 527 kA (Lethal Concentration 50)
4 it 2% ¥ (Biochemical Oxygen Demand)
&% i* (Eutrophication)
i N -3 3{% #c (Pollutant Standards Index)

B (50%)

FF ';@‘TP ¥ oF F LUPES Lﬁ%}‘ﬁl Fooo TARIE I 2
ERAL RN IR ARty
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B i (4) S

(1)3(2)6(3)9(4) 12 ~ B
H2Ep Kok rgZE A (1) K (2) i (B) A (4) FHEEE
LT 3 L F 1ok F 47482 (1) BOD (2) COC (3) LDy (4) pH
TAIF ALY o ik 2L A A 2 F]5 2 (1) SO, (2) CO, 3)NO,y (4) N,
VB EAA R AR FF L 2 (1) SO, (2) CO, (3) NO, (4) N,
Bk RS ES (1) ¥ Tk Q) kb kiR (3) B (4) @#ip
EAPRE Y o g2 pEa 4 (1) 2Tk (2) AE (3) B () B
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1. Evaluate the following problems : (7% each)

1 2 3x
. dx= b. X € =
o Few - I
1 5 1
c dx= . dc=
'[x In/x I0(3‘:—3)2
d = 1
Rl dt — Il 2x2
© dxh 147 L %
g lim(Wx* =9 - x)= h lim (o4 3 2221
X0 x—>-2" X+

B 2sinZ  x#0
2. Let f(x)= x
0 x=0

(1) Find f'(x) forall xeR (7%)

(2) Isfunction f'(x) continuousat x=0 ? Why ? (7%)
3. Find the equation of the tangent line to x*+xy+y*—x=1 at the point (2,-1). (10%)

4. Find the maximum and minimum values of f(x,y,z)=x*+y*+2z? with the constraints

x+y+z=25 (10%)
5. Find the volume of the solid generated by revolving the region bounded by the curve

y=4Inx - thex-axis and theline x =1 Xx=e about the x-axis.(10%)
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-~ EEH(HE ”4‘3\3%”’4‘" FEEPED - BED ALY
I L& salicFiEE  2842x78x%x1.25=7
(A) 277.1 (B) 277.10 (C) 0.277x10°
2. £

A, - HRw o

ko BWEFRNALY > BERY F4& 7 EI)
(D) 2.8x 107

-1 /&&TP\;}F (A) 100 Fu/p/]’&a 'TE.//\ ’Fﬁml?ug( (B) 1000 Fu/p/&c’ 'Tg/‘_-, ’Eﬁ—ml?uﬁ'(
(C) 100 233 A
3. 55 (0y)- 4

(A) it

©)
4.1 x 3 (mole)m B8 B
s ;1J

17 F] _I_ ?
(A) AE=W=q=0

19 4037 e (D) 1000 203 ¢ 74 i3 enn i
WA F IR R 70
(&lm

“ A% (D)

FER ALIHEEY Kbz g o
‘/Tﬁ}ﬁ-ﬁj
~E 7

(B)q=0; AE 2 W

(E ?P\Eb ’qé,él[“g_ ’W?xé)
2% (CAE=0:WZ2 qifi® (D)AE=W=0;q 31 &
BF S 42N PV=nRT ¢ - & 7 404 #R=0.082 p5 » £ A ¥ 1§ *
(A) °C (B) F (C) K (D) °S
6. — v s GEBMALHCDER 5 5 5 M2
(A) 105 (B) 12 (C)

18 (D) 36.5
iv &} enlg #% % (buffer solution) 2 & #4 & &_
(A) FEFEEE B) HAHCEEED
8. F-kizir® 2

A A

(C) #iapehpH 2 % (D) #i3echpH B8 % +
7 020M KCl 2 020M 7BaCLRl-k¢ [Cl ] =?M
(A) 030M (B) 040M (C) 0.50M (D) 0.60M
9. TAIkBiRT P BEE?
(A) Ca(N03)2

(B) NH,CI

(C) CH;COONa

10.5 k3% 2.25°C T »(H") =1.0x10 °M - R
A) 2 B) 4 (©) 6 (D) 8

(D) NaHCO;

# pOH & 3
1.¢ 4o 25ml 7 0.2M H,SO4 >
(A) 25ml

’%ﬁiﬁ(ml)mOIN /%)i NaOH/F,/] ?ig ——\!3"?
(B) 50ml (C) 100ml (D) 200ml
12.% 9 5. (planck)$& N1 chE F+ 2 H ¢ 8 37 F - ¢
A) £+ B =+ (O %Eﬁ“iﬁ' (D) #*w &

FIETEIR

!
=




344(Cr)R+ B=24 5 (R+ B)=8 B|- B CrO” 35 + %
(A) 54 (B) 56 (C) 58 (D) 60

X

R 2

14BR~EAMALT d B LRERRBEITENI VDT ?
(A) 6 (B) 8 (C) 10 (D) 14

IEREIPERE T EL SN RN ST < N
(A) H0,(B) KoCrO4 (C) Zn (D)KMnO,

16,65 BRF e - § - 48
(A) 23 23 5 Jig (B) %3 chi fis (C) § 8§ itk s (D) & o+ #Kh hF iy

177 4255 ¢ 6Fe?+1Cnh0; >+nH - 6Fe*+2Cr*+7H,0 f4# n= 9
(A) 6 (B) 10 (C) 12 (D) 14

18, 5 b gk He(K) > £ LT AR BEIR L B P e
(A) #E (B) RS (O WH D) kKA

198 # 4 TH7F it D+2E —=2Fg > T§R#® (D) =1M-[(E] =02M-[(F) =04M
(A) 02 (B) 2 (C) 4 (D) 8

20. % yp @ N RIL 0 R TR T A HE 0 BT H A2 1 SO+ NOyg = SOj3+ NOg) 7 H#-
(A) NOeER " (B) SOk =% (C) B4 #3 (D) NOkRF©

L3 BF R A+Bo3C tHMALRSRBE  F p 3Pk e 2 fHMBER R F ok F4c i
Wﬁ—-r TENE
(A)Rate=k [A)?[(B) (B)Rate=k (A)*[B)? (C)Rate=k ([A)* (D)Rate=k (B)?

2.5 F75%° ORFEFI LA RES T EH 5 TS ?
(A) % B (B) CO, (C) §:fitd (D) Fehf it

23820 22 B ® 3 42 £H(Pb)0.025 25 > o E £ kAR M § A ¥k( parts per million » ppm) % 7 3
(A) 0.125ppm (B) 1.25ppm (C) 12.5ppm (D) 125 ppm

20 FH— L FAERERELAL - L FFEFRE - L F
(A) #5# B) %4 (C) 54 (D) i#

BSAFREZ D AR FEI R RB IR SAFE T J\'”{;ﬁ—r 7P fEEPLE RAE F b ?
(A)Jk HaSO4: ) HCI=3:1 (B) /k HaSO4 @ Jk HCl =3:1
(C)Jk HNOs : jE HC1=3 : 1 (D) % HNO; : jk HCI =1:3

“HEEPE :&g%ﬂ;{% B EERRT 5 ZR 7
(4%)1.7% Hustm* F ARt o (a)- BRAFERZ S22 (m)?
O)FRFhE EE IAEB)FE > - B2 AT %RESSBRIT ?

S

(10%)2. 258 )
(a) %

LA
¥ (aFié (CFpa() (d)F H48(0) (e)mmpad
(5%)3.%

c@ 02M hd F 4 NaOH)B ik > 3-8 755 P ruehd ¥ V40 4e R 2 B4 5 500ml i3 0% ?

L4 e 0.

(+% H=10 >0=16.0 > Na=23.0)

(6% M5 250 10 M eml (HINOY) » ffff & 0 el i 2 250 ml» 352 a5 > £ 2 5

(F % FWF €% 50ml ~ 100ml ~ 250ml & - % > & F 10ml ~ 50ml & — & > Z4-K > §oiE s § 2



